4011 EHIII

eSS R Total
N=11 N=82 N=93
1.2KRE (BE) 1. LTwa 2 (18.2%) 36 (46.2%) 38 (42.7%)
2 LTuhAaL 9 (81.8%) 42 (53.8%) 51 (57.3%)
2EHERE 1 LTw3 0 (0%) 16 (20.5%) 16 (18.0%)
2 LTuhAaL 11 (100%) 62 (79.5%) 73 (82.0%)
3.7 FHiERE 1 LTW3 10 (90.9%) 59 (72.0%) 69 (74.2%)
2 LTl 1(9.1%) 23 (28.0%) 24 (25.8%)
A F %0 BEE2 1 LTW3 2 (18.2%) 10 (12.5%) 12 (13.2%)
2 LTuhAaL 9 (81.8%) 70 (87.5%) 79 (86.8%)
bAFTERE 1 LTw3 8 (72.7%) 43 (53.1%) 51 (55.4%)
2 LTuhAaL 3 (27.3%) 38 (46.9%) 41 (44.6%)
6.2 - BaEFZ 1 LTwnwa 3 (27.3%) 30 (37.5%) 33 (36.3%)
2 LTuian 8 (72.7%) 50 (62.5%) 58 (63.7%)
7R 1 LTw3 5 (45.5%) 23 (28.8%) 28 (30.8%)
2 LTuhAaL 6 (54.5%) 57 (71.2%) 63 (69.2%)
SIEFEFEEY 1 LTW3 4 (40.0%) 18 (22.5%) 22 (24.4%)
2 LTl 6 (60.0%) 62 (77.5%) 68 (75.6%)
IKHAEEt Y X —~DHKE 1 LTw3 3 (27.3%) 32 (41.0%) 35 (39.3%)
2 LTuhau 8 (72.7%) 46 (59.0%) 54 (60.7%)
10 EELYEE 1 LTw3 3 (27.3%) 3 (3.8%) 6 (6.6%)
2 LTl 8 (72.7%) 77 (96.2%) 85 (93.4%)
1IN EREEES 1 LTwnwa 3 (27.3%) 36 (44.4%) 39 (42.4%)
2 LTuhAn 8 (72.7%) 45 (55.6%) 53 (57.6%)
12.F8EEREZDIER 1 LTW3 11 (100%) 55 (67.9%) 66 (71.7%)
2 LTuhAaL 0 (0%) 26 (32.1%) 26 (28.3%)
IRRIZZN - EDES i 1. LTWw3 4 (36.4%) 9(11.1%) 13 (14.1%)
2 LTl 7 (63.6%) 72 (88.9%) 79 (85.9%)
U EBEDREE 1 LTw3 3 (27.3%) 15 (18.5%) 18 (19.6%)
2 LTuhaL 8 (72.7%) 66 (81.5%) 74 (80.4%)
15. % DFE - BE 1 FF& - B&EHY 0 (0%) 12 (17.7%) 12 (17.4%)
2 e - LAn 0 (0%) 11 (16.2%) 11 (15.9%)
3 hAHHEN 1 (100%) 43 (63.2%) 44 (63.8%)
4 ZF Dty 0 (0%) 2 (2.9%) 2 (2.9%)
16. Bt P2 ERIFSEH DO FE 1 FEHL 4 (100%) 52 (71.2%) 56 (72.7%)
2 BT E 0 (0%) 6 (8.2%) 6 (7.8%)
4 HhH SN 0 (0%) 15 (20.6%) 15 (19.5%)
17. FZEEH 64 (60-68) 66 (57-70) 66 (58-70)
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